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[ 1 16
15 10
Iny(i)=a + > bx, +¢InS
]

i:

y:

S
a, by, ¢

16 10 15 10
0.5945 0.5691
80526 114012
t t
9.32517 | 389.50 9.10686 |1162.68
0.54852 | 213.74 0.47452 | 286.66
0.03901 4.14 0.02002 4.52
(base: (base:

) 0.14180 | 48.41 ) 0.09830 | 55.44
S56  S60 0.12326 | 27.68 S56  S60 0.10685 | 34.68
S61 H 0.18390 | 47.03 S61 H 0.18502 | 71.14

(base: ss5) 1M 0.21558 | 51.84 (base: s55) |F M 0.22666 | 85.32
H12 0.22328 | 51.59 H12 0.24801 | 87.71

H13 0.24168 | 41.03 H13 0.27351 | 76.69
0.23616 | 13.32 0.24937 | 47.58

bo -0.15718 | -10.94 by -0.14406 | -55.36

by -0.27876 | -20.94 by, -0.32978 |-116.82

by, -0.43887 | -33.03 by, -0.50411 | -84.29

by -0.60153 | -44.99 bys -0.20020 | -76.41

b -0.77303 | -49.06 by, -0.45256 |-113.95

bys -0.16896 | -69.46

by -0.30978 | -84.01

by, -0.55071 | -44.56
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0.5291 0.5274
87603 307182
t T
9.03970 | 793.89 8.48583 | 1487.69
0.46320 | 227.45 0.42943 | 383.49
0.06234 | -13.35 0.06059 | -25.65
(base: 0.24770 | 76.38 (base: 0.12582 | 102.60
S56 560 0.16462 | 39.77 S56 560 0.13335 | 71.36
S61 H 0.22148 | 60.64 S61 H 0.22589 | 131.93
. H H 0.25694 | 67.67 . H H 0.29004 | 166.79
(base: S55) 1y 0.26836 | 75.33 (base: S55) | 1y, 0.33266 | 198.19
H13 0.20414 | 55.80 H13 0.35784 | 169.16
0.17560 | 25.53 0.25177 | 122.60
byo -0.18087 | -33.35 (base: |10 30 0.05382 | 39.19
by -0.28991 | -49.94 10 30 100 0.10586 | 76.13
by, -0.42260 | -60.26 ) 100 0.20074 | 123.71
bys -0.68593 | -38.21 b 0.04921 | 15.58
By -1.23327 | -6.84 be 0.10846 | 35.20
bys 0.18360 | 59.86
bus 0.22836 | 57.94
=1
XQ L] £
X]O ’ ’ ’ ] 3 3
X.Z_Z ’ ’ ] ] ’ ’
7 I 7 7 7
XJZ I ’ ’ ’ ’ ’ ’ ’
’ ’ ’ ’
ij’ ’ ’ ’ ’ ’
7 ? ’ ? ’ 7 7
7
l:2 ( ’ ’ ’ ] ] ’
)1 3 3 3
X9 ( ’ ’ ’ ’ 1] )1 ’
’ 7 7 7 7 7 7
X_Z(] ( ’ )1 ’ ’ ’ ’ ’
7 7 7 7 7 7 7 7
7 7 7 7 7 7 7 7
7 7 7 I 7 7 7 I
7 7 7 7 I
X]] ’ ’ ’ ’ ’ ’ ’
7 7 7 7 7 7
7 7 7 I 7 7 7
I I 7 7 7 7 7
X_ZZ ( ’ ’ )1 ’ ’ ’
7 7 7 7 7 7 7
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